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Czeneral Instructions:

1 All questions are compulsory.

z The question paper consists of 31 questions divided into four seclions A, B, C and 1.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of & quesbons
of 2 marks cach; Seclion-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

There 15 no overall choice in this gquestion paper.
Use of caloalator is not permathed.
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Question nmmbers 1 o 4 carry one mark each.
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Identity a rational number among the [ollowing numbers -
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Which one of the following is & polynomial 7
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A C B
In the figure, if ACB is a straight line and x: y = 2:1, find the values of x and v.
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fifg A(— 10, —10) S B(—35, 1} Fes Sates 7 fem £7. :

In whirh quadrants the points A (- 10, — 10} and B{~ 5 1} le?
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Chuestion mumbers 5 1o 10 carry two marks each.
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Represent J2 on the rumber line.
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Find the remainder when x'— 4"+ 12v+7 is divided by x + %

7 = forgel TOR 7, % =iy w0 PR 79I QR 7 5 weR £ 5 PX=RY ¥ <9Ee & PR=QR %I
In a triangle POR, X and Y are the mid-point of points on TR and QR respectively, such that
PX=RY. Show that FR=0R.

g T 3= ABC S, 75 AD - AC A £BAC=580¢ &, T LABC TR ST |

I a triangle ABC, if AB=AC and ~BAC =8, then find /ABC

3 s 7 W gl A (3,0), B (0,5),C(~3 —3) FDE L el =it |

Ilot the points A (3. 0), B (@, 5), C(—3, —3} and [ {2, 4) in the carlesian plane.
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Find the area of a tiangle whose sides arc 3 ¢m, 4 cm and 5 cm. Henee, find the
corresponding altitude using longest side as base.
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Question numbers 11 to 20 carry thrée marks each.
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Show that x—3 is & factor of the polynomial 28— 2= —9x=5. Hence faciogise the
polynomial.
oS FIAT 2 4 (27 1R +13 (x2+1)=12

Factorise : 4 (2412 +13 (x24 1)—12
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Write any Three Fuclid's Postalate:

Py 5, Fage ABC =0 el A 4R 5 1 F A D % ag T 8 TR CERC =110 R
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In the fignre, sides AB and BC of AABC are produced to point F and D nespectively. If
LEBC=11F and #ACD=135", find ~BAC.
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In the given fipure, ADB is & straight line. Find the vaue of x.
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In the figure, a trarwversal [ culs two lnes AB and CD at E and F respectively.  FG s the
hisecior of #AEF and FIH is the bisector of /FFD such that Za=#b. Show that EG|[FH and
ABJCD.
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Flot two poinds F(1, 3) and Q(2, 6) on the graph sheet. Now, plot reflections of P and  in x-
axis and name them as S and R respectively. Tdentify the figure PORS.
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Find the area of a triangle whose sides are 5 cm, 12 cm and 13 cm.  Also, find the shortest
altitude.

WUE-T [ SECTION-D
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Question nambers 21 t0 31 carry four marks each
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Divide 12 415 by 833 .

t x=3-Z, ind () @y (- £)?

OR.



Rationalise the denominator of

a’—8b% - 36ab— 216 T AN okl FHAT T a=2h i & &1
Find the value of a* —8b% —36ab— 216 when 2 =2b + 5.
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Using lang division method, show that the polynomial plix) = x® + 1 i divisible by qlx) =x+1. Verify
your result using factor theorem

TR FTLTE x40 fe—yP— by (7 — ) =8 F1 :
Prove that {x+ i — (x— P — 8y (2 — 12 =g

TR pla)=x"—4r 1 4’ - Bx+4 B qx)=x—1 T WM SR AR FA HTRF p T FH
g1 W, AR T g(x) A i farertm 2

Divide polynomial pix)=x*—41° ¢ 43— 31 +4 by q(3) =v—1 and find what should be added
inp(x) so thatit is divisible by g(x). = s
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Residence Welfare Assoclation planned to make a rectangular playground for children in cheir colony.
What value are they exhibiting by doing so ? What is the relation between all angles of 2 rectangles 7
state the Euclid axiom used here. Also give any two other axioms.
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EiRd 5 =y it |
"A sguare is a polygon made up of four line segments, out of which, length of three line SEEMEents are

equal to the length of fourth cne and all its angles are right angles".



Define the terms used in this definition which have been highlighted funderlined.

23 feu e fom & AR || CD RDE|| TG 1 £PDE, £AFD 3% /DFG 70 Fiiag |
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In given figure AB|| CD and DE || FG. Detlermine <PDE, £#AFD and ~DFG.
30 firn 1y o g wifew e x=a+ b o 4
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In the given figure; prove that x=a+b+c
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The angles of a triangle are {(x—40)%, {x—20}" and |§ — 10 : . Finul e value of x and then the

angles of the triangle.
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